

# LP-Sasakian Manifold Admitting $C$ -Bochner Curvature Tensor

Shanmukha B. and Venkatesha

Communicated by Zafar Ahsan

MSC 2010 Classifications: 53C15, 53C25, 53C50.

Keywords and phrases: LP-Sasakian manifold,  $C$ -Bochner curvature tensor, pseudosymmetric, Einstein manifold.

*The first author is thankful to University Grants Commission, New Delhi, India for financial support in the form of National Fellowship for Higher Education. (F1-17.1/2016-17/NFST-2015-17-ST-KAR-3079/(SA-III/Website)).*

**Abstract.**  $C$ -Bochner pseudosymmetric LP-Sasakian manifold and LP-Sasakian manifold satisfying  $B(\xi, X) \cdot B = 0$ ,  $B(\xi, U) \cdot R = 0$  and  $B(\xi, X) \cdot S = 0$  have been studied. Finally an example of LP Sasakian manifold has been constructed.

## 1 Introduction

In 1989 Matsumoto [11] introduced the notion of Lorentzian para-Sasakian manifolds. The same notion was independently introduced by Mihai and Rosca [13] who obtained several results. As a generalization of spaces of constant curvature, locally symmetric spaces were introduced by Cartan [3]. Every locally symmetric space satisfies  $R \cdot R = 0$ , whereby the first  $R$  stands for the curvature operator which acts as a derivation on the second  $R$  which stands for the Riemannian curvature tensor. Manifolds satisfying the condition  $R \cdot R = 0$  are called semisymmetric manifolds and were classified by Szabo [21]. The condition of semisymmetry was weakened by Deszcz as pseudosymmetry which are characterized by the condition  $R \cdot R = LQ(g, R)$ , whereby  $L$  is a real function on  $M$  and  $Q(g, R)$  is the Tachibana tensor of  $M$ .

A Riemannian manifold  $M$  is said to be pseudosymmetric in the sense of Deszcz [8] if

$$R(X, Y) \cdot R(U, V)Z = L_R((X \wedge Y) \cdot R(U, V)Z), \quad (1.1)$$

holds on  $U_R = \{X \in M \mid R - \frac{r}{n(n-1)}G \neq 0 \text{ at } x\}$ , where  $G$  is the  $(0, 4)$  tensor defined by  $G(X_1, X_2, X_3, X_4) = g((X_1 \wedge X_2)X_3, X_4)$ ,  $L_R$  is some smooth function on  $U_R$  and  $(X \wedge Y)$  is an endomorphism defined by

$$(X \wedge Y)Z = g(Y, Z)X - g(X, Z)Y. \quad (1.2)$$

A Riemannian manifold  $M$  is said to be  $C$ -Bochner pseudosymmetric [5] if

$$R(X, Y) \cdot B(U, V)Z = L_B((X \wedge Y) \cdot B(U, V)Z), \quad (1.3)$$

holds on the set  $U_B = \{x \in M : B \neq 0 \text{ at } x\}$ , where  $L_B$  is some function on  $U_B$  and  $B$  is the  $C$ -Bochner curvature tensor [5].

Pseudosymmetric LP-Sasakian manifold was studied by De and De [4]. In their article they mainly studied pseudosymmetric, Weyl-pseudosymmetric and Ricci-pseudosymmetric LP-Sasakian manifolds and obtained some interesting results.

Motivated by the above studies we made an attempt to study LP-Sasakian manifold with  $C$ -Bochner curvature tensor. The paper is organized as follows: After the preliminaries, in section 3 we studied  $C$ -Bochner pseudosymmetric LP-Sasakian manifolds and proved that a  $(2n + 1)$ -dimensional  $C$ -Bochner Pseudosymmetric LP-Sasakian manifold is locally isometric to a sphere. In sections 4 and 5 we have proved that LP-Sasakian manifold satisfying  $B(\xi, X) \cdot B = 0$  and  $B(\xi, X) \cdot R = 0$  are isometric to sphere and hyperbolic space respectively. Section 6 is concerned with LP-Sasakian manifold satisfying  $B(\xi, X) \cdot S = 0$ . Finally, in the last section we construct an example of LP-Sasakian manifold.

## 2 Preliminaries

A  $(2n + 1)$ -dimensional differentiable manifold  $M^{2n+1}$  is said to be Lorentzian para-Sasakian (shortly, LP-Sasakian) manifold, if it admits a  $(1, 1)$ -tensor field  $\phi$ , a contravariant vector field  $\xi$ , a 1-form  $\eta$  and a Lorentzian metric  $g$  which satisfies [11, 12].

$$\phi^2 = X + \eta(X)\xi, \quad \eta(\xi) = -1, \quad \phi\xi = 0, \quad \eta(\phi) = 0, \quad g(X, \xi) = \eta(X), \quad (2.1)$$

$$g(\phi X, \phi Y) = g(X, Y) + \eta(X)\eta(Y), \quad (2.2)$$

$$\nabla_X \xi = \phi X, \quad (2.3)$$

$$(\nabla_X \phi)Y = g(X, Y)\xi + \eta(X)Y + 2\eta(X)\eta(Y)\xi, \quad (2.4)$$

for all vector fields  $X, Y, Z \in T_pM$ . Here  $\nabla$  denotes the operator of covariant differentiation with respect to Lorentzian metric  $g$ .

Also in LP-Sasakian manifold, the following relations hold [11, 12]:

$$g(R(X, Y)Z, \xi) = \eta(R(X, Y)Z) = g(Y, Z)\eta(X) - g(X, Z)\eta(Y), \quad (2.5)$$

$$R(\xi, X)Y = g(X, Y)\xi - \eta(Y)X, \quad (2.6)$$

$$R(X, Y)\xi = \eta(X)Y - \eta(Y)X, \quad (2.7)$$

$$R(\xi, X)\xi = X + \eta(X)\xi, \quad (2.8)$$

$$S(X, \xi) = 2n\eta(X). \quad (2.9)$$

for all vector fields  $X, Y, Z$ , where  $S$  is the Ricci tensor and  $R$  is the Riemannian curvature tensor.

$C$ -Bochner curvature tensor on an almost contact metric manifold was defined by Matsumoto and Chuman [10] and is given by

$$\begin{aligned} B(X, Y)Z &= R(X, Y)Z + \frac{1}{2(n+2)}\{S(X, Z)Y - S(Y, Z)X + g(X, Z)QY \\ &- g(Y, Z)QX + S(\phi X, Z)\phi Y - S(\phi Y, Z)\phi X + g(\phi X, Z)Q\phi Y \\ &- g(\phi Y, Z)Q\phi X + 2S(\phi X, Y)\phi Z + 2g(\phi X, Y)Q\phi Z - S(X, Z)\eta(Y)\xi \\ &+ S(Y, Z)\eta(X)\xi - \eta(X)\eta(Z)QY + \eta(Y)\eta(Z)QX\} \\ &- \frac{\tau + 2n}{2(n+2)}\{g(\phi X, Z)\phi Y - g(\phi Y, Z)\phi X + 2g(\phi X, Y)\phi Z\} \\ &- \frac{\tau - 4}{2(n+2)}\{g(X, Z)Y - g(Y, Z)X\} + \frac{\tau}{2(n+2)}\{g(X, Z)\eta(Y)\xi \\ &- g(Y, Z)\eta(X) + \eta(X)\eta(Z)Y - \eta(Y)\eta(Z)X\}, \end{aligned} \quad (2.10)$$

where  $\tau = \frac{r+2n}{2(n+2)}$ ,  $Q$  is the Ricci operator i.e.  $g(QX, Y) = S(X, Y)$  and  $r$  is the scalar curvature of the manifold.

Using (2.5)-(2.8), one can get

$$B(X, \xi)Z = H\{\eta(Z)X - g(X, Z)\xi\}, \quad (2.11)$$

$$B(X, Y)\xi = H\{\eta(Y)X - \eta(X)Y\}, \quad (2.12)$$

$$B(\xi, Y)Z = H\{g(Y, Z)\xi - \eta(Z)Y\}, \quad (2.13)$$

$$\eta(B(X, Y)Z) = H\{g(Y, Z)\eta(X) - g(X, Z)\eta(Y)\}, \quad (2.14)$$

where  $H$  is a constant i.e.,  $H = \{1 - \frac{3n}{n+2} + \frac{\tau-4}{2(n+2)} + \frac{\tau}{2(n+2)}\}$ .

## 3 $C$ -Bochner Pseudosymmetric LP-Sasakian manifold

A  $(2n + 1)$ -dimensional LP-Sasakian manifold  $M^{2n+1}$  is said to be  $C$ -Bochner pseudosymmetric if

$$(R(X, Y) \cdot B)(U, V)W = L_B[(X \wedge Y) \cdot B](U, V)W, \quad (3.1)$$

holds on the set  $U_B = \{x \in M : B \neq 0\}$  at  $x$ , where  $L_B$  is some function on  $U_B$ .

Let  $M^{2n+1}$  be a  $C$ -Bochner pseudosymmetric LP-Sasakian manifold. Then from (3.1) we have

$$(R(X, \xi) \cdot B)(U, V)W = L_B[(X \wedge_g \xi) \cdot B](U, V)W. \tag{3.2}$$

Using (2.6), the left-hand side of equation (3.2) becomes

$$\begin{aligned} & \{g(\xi, B(U, V)W)\xi - g(X, B(U, V)W)\xi - \eta(U)B(X, V)W \\ & + g(X, U)B(\xi, V)W - \eta(V)B(U, X)W + g(X, V)B(U, \xi)W \\ & - \eta(W)B(U, V)X + g(X, W)B(U, V)\xi\} = 0. \end{aligned} \tag{3.3}$$

Using (1.2), the right hand side of equation (3.2) turns into

$$\begin{aligned} & L_B\{g(\xi, B(U, V)W)\xi - g(X, B(U, V)W)\xi - \eta(U)B(X, V)W \\ & + g(X, U)B(\xi, V)W - \eta(V)B(U, X)W + g(X, V)B(U, \xi)W \\ & - \eta(W)B(U, V)X + g(X, W)B(U, V)\xi\} = 0. \end{aligned} \tag{3.4}$$

By virtue of (3.3) and (3.4), (3.2) give rise to

$$\begin{aligned} & (1 - L_B)\{g(\xi, B(U, V)W)\xi - g(X, B(U, V)W)\xi - \eta(U)B(X, V)W \\ & + g(X, U)B(\xi, V)W - \eta(V)B(U, X)W + g(X, V)B(U, \xi)W \\ & - \eta(W)B(U, V)X + g(X, W)B(U, V)\xi\} = 0, \end{aligned} \tag{3.5}$$

which implies  $L_B = 1$  or

$$\begin{aligned} & \{g(\xi, B(U, V)W)\xi - g(X, B(U, V)W)\xi - \eta(U)B(X, V)W \\ & + g(X, U)B(\xi, V)Z - \eta(V)B(U, X)W + g(X, V)B(U, \xi)W \\ & - \eta(W)B(U, V)X + g(X, W)B(U, V)\xi\} = 0. \end{aligned} \tag{3.6}$$

Putting  $W = \xi$  in the above equation and simplifying we get

$$B(U, V)X = \{g(X, V)U - g(X, U)V\}. \tag{3.7}$$

Thus, we have the following assertion;

**Theorem 3.1.** *If a  $(2n+1)$ -dimensional LP-Sasakian manifold  $M^{2n+1}$  is  $C$ -Bochner Pseudosymmetric then  $M^{2n+1}$  is locally isometric to a sphere or  $L_B = 1$ .*

### 4 LP-Sasakian manifold satisfying $B(\xi, X) \cdot B = 0$

Let us consider an LP-Sasakian manifold satisfying  $B(\xi, X) \cdot B = 0$ . Then we have,

$$\begin{aligned} & B(\xi, X)B(U, V)W - B(B(\xi, X)U, V)W \\ & - B(U, B(\xi, X)V)W - B(U, V)B(\xi, X)W = 0. \end{aligned} \tag{4.1}$$

In view of (2.13), (4.1) gives

$$\begin{aligned} & H[g(X, B(U, V)W)\xi - \eta(B(U, V)W)X - g(X, U)B(\xi, V)W \\ & + \eta(U)B(X, V)W - g(X, V)B(U, \xi)W + \eta(V)B(U, X)W \\ & - g(X, W)B(U, V)\xi + \eta(W)B(U, V)X] = 0. \end{aligned} \tag{4.2}$$

Setting  $V = \xi$  in (4.2) and making use of (2.11), we get

$$B(U, X)W = -H\{g(X, W)U - g(U, W)X\}. \tag{4.3}$$

Hence, we can state the following:

**Theorem 4.1.** *If a  $(2n + 1)$ -dimensional LP-Sasakian manifold  $M^{2n+1}$  satisfies  $B(\xi, X) \cdot B = 0$  then  $M^{2n+1}$  is isometric to a hyperbolic space.*

### 5 LP-Sasakian manifold Satisfying $B(\xi, U) \cdot R = 0$

Suppose  $M^{2n+1}$  satisfies  $B(\xi, U) \cdot R = 0$ . The condition  $B(\xi, U) \cdot R = 0$  implies that

$$\begin{aligned}
 & B(\xi, U)R(X, Y)Z - R(B(\xi, U)X, Y)Z \\
 & - R(X, B(\xi, U)Y)Z - R(X, Y)B(\xi, U)Z = 0.
 \end{aligned}
 \tag{5.1}$$

By virtue of (2.12), (5.1) turns into

$$\begin{aligned}
 & H[g(U, R(X, Y)Z)\xi - \eta(R(X, Y)Z)U - g(U, X)R(\xi, Y)Z \\
 & + \eta(X)R(U, Y)Z - g(U, Y)R(X, \xi)Z + \eta(Y)R(X, U)Z \\
 & - g(U, Z)R(X, Y)\xi + \eta(Z)R(X, Y)U] = 0.
 \end{aligned}
 \tag{5.2}$$

Plugging  $Z = \xi$  in (5.2) and using (2.7), one can get

$$H\{-g(U, X)Y + g(U, Y)X - R(X, Y)U\} = 0.
 \tag{5.3}$$

which yields, either  $H = 0$  i.e.  $\tau = 2n$ ,

or

$$R(X, Y)U = [g(Y, U)X - g(X, U)Y].
 \tag{5.4}$$

Thus, we can state the following theorem;

**Theorem 5.1.** *An  $(2n + 1)$ -dimensional LP-Sasakian manifold satisfying the condition  $B(\xi, X) \cdot R = 0$  is locally isometric to a sphere or  $\tau = 2n$ .*

### 6 LP-Sasakian manifolds satisfying $B(\xi, X) \cdot S = 0$

Consider a LP-Sasakian manifold satisfying  $B(\xi, X) \cdot S = 0$ . Then we have

$$S(B(\xi, X)Y, \xi) + S(Y, B(\xi, X)\xi) = 0.
 \tag{6.1}$$

Using (2.12) and (2.13) in (6.1), we get

$$S(X, Y) = 2ng(X, Y).
 \tag{6.2}$$

Thus we can state the following;

**Theorem 6.1.** *A  $(2n + 1)$ -dimensional LP-Sasakian manifold satisfying  $B(\xi, X) \cdot S = 0$  is an Einstein manifold.*

### 7 Example

We consider seven dimensional manifold  $M = \{x, y, z, u, v, w, t \in R^7\}$ , where  $x, y, z, u, v, w, t$  are the standard coordinates in  $R^7$ . We choose linearly independent global frame fields  $\{e_1, e_2, e_3, e_4, e_5, e_6, e_7\}$  on  $M$  as

$$e_1 = e^t \frac{\partial}{\partial x}, \quad e_2 = e^t \frac{\partial}{\partial y}, \quad e_3 = e^t \frac{\partial}{\partial z}, \quad e_4 = e^t \frac{\partial}{\partial u}, \quad e_5 = e^t \frac{\partial}{\partial v}, \quad e_6 = e^t \frac{\partial}{\partial w}, \quad e_7 = \frac{\partial}{\partial t}.$$

Let  $g$  be the Lorentzian metric defined by

$$\begin{aligned}
 & g(e_1, e_1) = g(e_2, e_2) = g(e_3, e_3) = g(e_4, e_4) = g(e_5, e_5) = g(e_6, e_6) = 1, \quad g(e_7, e_7) = -1, \\
 & g(e_i, e_j) = 0 \quad \text{for } 1 \leq i, j \leq 7.
 \end{aligned}$$

Let  $\eta$  be the 1-form defined by  $\eta(Z) = g(Z, e_7)$ , for any  $Z \in \chi(M)$ . We define a  $(1, 1)$ -tensor field  $\phi$  as

$$\begin{aligned}
 & \phi(e_1) = -e_1, \quad \phi(e_2) = -e_2, \quad \phi(e_3) = -e_3, \\
 & \phi(e_4) = -e_4, \quad \phi(e_5) = -e_5, \quad \phi(e_6) = -e_6, \quad \phi(e_7) = 0.
 \end{aligned}
 \tag{7.1}$$

The linearity of  $\phi$  and  $g$  yields that

$$\begin{aligned}\eta(e_7) &= -1, \\ \phi^2(Z) &= Z + \eta(Z)\xi, \\ g(\phi U, \phi Z) &= g(U, Z) + \eta(U)\eta(Z).\end{aligned}$$

For any  $U, Z \in \chi(M)$ , let  $\nabla$  be the Levi Civita connection with respect to the Lorentzian metric  $g$  and  $R$  be the curvature tensor of  $g$ , then we have

$$\begin{aligned}[e_1, e_2] &= [e_1, e_3] = [e_1, e_4] = [e_1, e_5] = [e_1, e_6] = 0, & [e_1, e_7] &= -e_1, \\ [e_2, e_3] &= [e_2, e_4] = [e_2, e_5] = [e_2, e_6] = 0, & [e_2, e_7] &= -e_2, \\ [e_3, e_4] &= [e_3, e_5] = [e_3, e_6] = 0, & [e_3, e_7] &= -e_3, \\ [e_4, e_5] &= [e_4, e_6] = 0, & [e_4, e_7] &= -e_4, \\ [e_5, e_6] &= 0, & [e_5, e_7] &= -e_5, \\ [e_6, e_7] &= -e_6.\end{aligned}\tag{7.2}$$

The Koszul's formula is defined by

$$2g(\nabla_X Y, Z) = Xg(Y, Z) + Yg(Z, X) - Zg(X, Y) - g(X, [Y, Z]) - g(Y, [X, Z]) + g(Z, [X, Y]).$$

By using the Koszul's formula, we can get the followings

$$\begin{aligned}\nabla_{e_1} e_1 &= e_7, & \nabla_{e_1} e_2 &= 0, & \nabla_{e_1} e_3 &= 0, & \nabla_{e_1} e_4 &= 0, & \nabla_{e_1} e_5 &= 0, & \nabla_{e_1} e_6 &= 0, & \nabla_{e_1} e_7 &= -e_1, \\ \nabla_{e_2} e_1 &= 0, & \nabla_{e_2} e_2 &= e_7, & \nabla_{e_2} e_3 &= 0, & \nabla_{e_2} e_4 &= 0, & \nabla_{e_2} e_5 &= 0, & \nabla_{e_2} e_6 &= 0, & \nabla_{e_2} e_7 &= -e_2, \\ \nabla_{e_3} e_1 &= 0, & \nabla_{e_3} e_2 &= 0, & \nabla_{e_3} e_3 &= e_7, & \nabla_{e_3} e_4 &= 0, & \nabla_{e_3} e_5 &= 0, & \nabla_{e_3} e_6 &= 0, & \nabla_{e_3} e_7 &= -e_3, \\ \nabla_{e_4} e_1 &= 0, & \nabla_{e_4} e_2 &= 0, & \nabla_{e_4} e_3 &= 0, & \nabla_{e_4} e_4 &= e_7, & \nabla_{e_4} e_5 &= 0, & \nabla_{e_4} e_6 &= 0, & \nabla_{e_4} e_7 &= -e_4, \\ \nabla_{e_5} e_1 &= 0, & \nabla_{e_5} e_2 &= 0, & \nabla_{e_5} e_3 &= 0, & \nabla_{e_5} e_4 &= 0, & \nabla_{e_5} e_5 &= e_7, & \nabla_{e_5} e_6 &= 0, & \nabla_{e_5} e_7 &= -e_5, \\ \nabla_{e_6} e_1 &= 0, & \nabla_{e_6} e_2 &= 0, & \nabla_{e_6} e_3 &= 0, & \nabla_{e_6} e_4 &= 0, & \nabla_{e_6} e_5 &= 0, & \nabla_{e_6} e_6 &= e_7, & \nabla_{e_6} e_7 &= -e_6, \\ \nabla_{e_7} e_1 &= 0, & \nabla_{e_7} e_2 &= 0, & \nabla_{e_7} e_3 &= 0, & \nabla_{e_7} e_4 &= 0, & \nabla_{e_7} e_5 &= 0, & \nabla_{e_7} e_6 &= 0, & \nabla_{e_7} e_7 &= 0.\end{aligned}\tag{7.3}$$

From the above calculation it can be easily seen that in  $M^7(\phi, \xi, \eta, g)$ ,  $\eta(\xi) = -1$  and  $\nabla_X \xi = \phi X$ . Hence the manifold is an LP-Sasakian manifold.

## References

- [1] A. A. Aqueel, U. C. De and G. C. Ghosh, On Lorentzian para-Sasakian manifolds, *Kuwait J. Sci. Eng.*, **31(2)**, 1–13 (2004).
- [2] C. S. Bagewadi, Venkatesha and N. S. Basavarajappa, On LP-Sasakian manifolds, *Sci. Scr. A Math. Sci.*, **16**, 1-8 (2008).
- [3] E. Cartan, Leçons sur la géométrie des espaces de Riemann, *Gauthier-Villars Paris*, 1963.
- [4] K. De and U. C. De, On a class of pseudosymmetric LP-Sasakian manifolds, *Afr. Mat.*, **26**, 131–138 (2015).
- [5] A. De, C-Bochner Curvature Tensor on  $N(k)$ -Contact Metric Manifolds, *Lobachevskii Journal of Mathematics*, **31(3)**, 209–214 (2010).
- [6] U. C. De and S. Samui, E-Bochner curvature tensor on  $(K, \mu)$ -contact metric manifold, *Int Electron J. Geom.*, **7 (1)**, 143–153 (2014).
- [7] U. C. De and A. A. Shaikh, On 3-dimensional LP-Sasakian manifolds, *Soochow J. Math.*, **26**, 359-368 (2000).
- [8] R. Deszcz, On pseudosymmetric spaces, *Bull. Soc. Math. Belg. Ser. A.*, **44(1)**, 1–34 (1992).
- [9] S. K. Hui and D. G. Prakasha, On the C-Bochner Curvature Tensor of Generalized Sasakian-Space-Forms, *Proc. Natl. Acad. Sci., India, Sect. A Phys. Sci.*, **81(3)**, 401–405 (2015).
- [10] M. Matsumoto and G. Chuman, On the C-Bochner curvature tensor, *TRU Math.*, **5(21)**, 21–30 (1969).
- [11] K. Matsumoto, On Lorentzian para contact manifolds, *Bull. Yamagata Univ. Natur. Sci.*, **12**, 151–156 (1989).
- [12] K. Matsumoto and I. Mihai, On a certain transformation in a Lorentzian para-Sasakian manifold, *Tensor N.S.* **47**, 189–197 (1988).

- [13] I. Mihai and R. Rosca, On Lorentzian para-Sasakian Manifolds, *Classical Analysis*, 155–169 (1992).
- [14] C. Murathana, A. Yildiz, K. Arslana and U. C. De, On a class of Lorentzian para-Sasakian manifolds, *Proc. Estonian Acad. Sci. Phys. Math.*, **55(4)**, 210–219 (2006).
- [15] K. Nomizu, On hypersurfaces satisfying a certain condition on the curvature tensor, *Tohoku Math J.*, **20(1)**, 46–59 (1968).
- [16] Y.A. Ogawa, Condition for a compact Kahlerian space to be locally symmetric, *Nat Sci Rep Ochanomizu Univ.*, **28(1)**, 21–23 (1971).
- [17] C. Ozgur,  $\phi$ -conformally flat Lorentzian para-Sasakian manifolds, *Radovi matemacki* **12**, 99–106 (2003).
- [18] A. A. Shaikh and S. K. Hui, On  $\phi$ -Symmetric LP-Sasakian manifolds Admitting Semi-symmetric metric Connection, *Novi Sad J. Math.*, **46(1)**, 63–78 (2016).
- [19] A. A. Shaikh and U. C. De, On 3-Dimensional LP-Sasakian manifolds, *Soochow Journal of Mathematics*, **26(4)**, 359–368 (2000).
- [20] A. A. Shaikh, D. G. Prakasha and H. Ahmad, On generalized  $\phi$ -recurrent LP-Sasakian Manifolds, *Journal of the Egyptian Mathematical Society*, **23**, 161–166 (2015).
- [21] Z. Szabo, *Structure theorems on Riemannian spaces satisfying  $R(X, Y) \cdot R = 0$ . I. the local version*, *J. Differ Geom.*, **17**, 531–582 (1982).
- [22] A. Taleshian, D. G. Prakasha, K. Vikas and N. Asghari, On the Conharmonic Curvature Tensor of LP-Sasakian Manifolds, *Palestine Journal of Mathematics*, **5(1)**, 177–184 (2016).
- [23] S. Tanno, Locally symmetric K-contact Riemannian manifold, *Proc Japan Acad.*, **43 (7)**, 581–583 (1967).
- [24] Venkatesha and C. S. Bagewadi, On Concircular  $\phi$ -recurrent LP-Sasakian manifolds, *Differential Geometry Dynamical Systems* **10**, 312–319 (2008).
- [25] Venkatesha and Shanmukha B,  $M$ -Projective Curvature Tensor on Lorentzian  $\alpha$ -Sasakian manifolds, *Global Journal of Pure and Applied Mathematics*, **13(7)**, 2849–2858 2017.

### Author information

Shanmukha B. and Venkatesha, Department of Mathematics, Kuvempu University, Shankaraghatta - 577 451., India.

E-mail: meshanmukha@gmail.com, vensmath@gmail.com

Received: January 21, 2018.

Accepted: May 4, 2019.